OUOUOOO—popononoooooooold 70000

goboobooogn

2010/11/20

gboobooboooooboooooboooon

evilOOOOODO 3400
http://www.math.wani.osaka-u.ac.jp/group/umehara/
http://kotaro.math.kyushu-u.ac.jp

= http://www.math.titech.ac.jp/ kotaro/

340000200 O0OODOOO

ugob 0000001000000 00DOO0DOOyDOOODOO1IDODOOOO
gboooooooo

3400000 3600000

ubodbd n—-100000000000O0O0OO0OOOOOOOOOOO n
gooooOooOOo0O0O pOOOOOODOODODOOO uOOODDOOQ,OOOO
ooooooooo0 uoooooo0ooooobooboce~obbooo0ooooooo
vwOoooooooooooooooobobooooy Oooooooooo
oo0ooooDo »O0OO0OO03600000000D0000O000O0 B-5000 5.7
gooo

=

gbobd n—-10000000000O0O0OO0OO0OOOOOOOOOOOO n
oobooOooOooooonD QuobooooobQ, OoDoooooooooDD Q
gooooooooooocec~oooooooooooo0 pOOobOOOOooOo
oooboobooooooooooooobooboboboobD poOODbODODOO
oooopooooD oo 0O QUOODOOOOODOOOO0DOOO00O0Om
oboooooboooobooboono wOOoooooooooooboooo
B-5000 5.70000

e 340000000500 000 =0000Q 0000000000000



000000 o0oooO 70000 (2010/11/20) 2

e« 340000000 300

= SgnP,'y (Q1)+ Z Sgn'yz,'yl (R) + Z Sgn'yz,'yQ (S)

R: v 00 ~, 0000 S: v, 00D00

= =sgip,(Qu) | 1+ Z 5811, 4, (R) | + Z 581y, 72 (S)

R: v 00 v, 0000 S: v, 0OOD0O

e120000 (122)00 (123)00000000

128000,300 0(12.3),(121)0 00131 000=0(122),(121)0 00 131000

13400001000

0 0 0 0
X4 = (U2 — ’U2>%_2UU% = X4 = (U2 — U2)%+2'Lﬂ)%
e 186 00T IO90O0O
li =4 li =4

201000013000

(6.1) D00000O0O0ODOOODOO
(6.1) 00000000 S0 (27000000000 0UODDOOOOOOO

(6.1) 000000000 4000
000000000070 40000000000000000000

2140000812000 1000
gbooooogd

(121)0 (12.2) 00 (123) 000000000000000000 da 00O
do(fX,Y) = fa(X,Y)
0000000000000000000000000000000000000
X, Y] = fIX, Y] - df (V)X
ooooo

2250 000000OODO
gbooooobooobooooobooooboboooooboo boooo oo =
gboooobooooobooobobooooobooooooobooobooooooboo boooobooo oo



0000D00MO0000 70000 (2010/11/20) 3

e 22500 DODDOOODO
gogoooobobobooooooobobboogoouonoooogo oo

=
gooooobooooooboboboboouooooDooodoDnD oooood oo



